



Pla

WE ARE PLEASED TO SHARE OUR 2023 CATALOGUE WITH YOU! FILLED WITH CLASSICS AND BEST SELLERS. AND AS PER USUAL MANY EXCITING NEW PRODUCTS AS WELL. WE LOOK FORWARD TO SHARING OUR GROWING **COLLECTIONS OF 'EASY TO MAKE HOMEMADE' GOODIES, ALL** COMING TO YOU FROM 'THE VILLAGE' FOR OVER 40 YEARS.

"WHAT'S NEW?"

We are excited to bring you over 80 new tastes, new products, new collections along with exciting new looks and presentations for some of our classic products. Here are some of the highlights;



NEW COLLECTIONS...

NEW SIDES COLLECTION... 4 NEW easy to make side dishes to go with our delicious main dishes. P.13

NEW CLASSIC EVERYDAY SEASONINGS;

Introducing 5 new unique and tasty blends of Herbs & Spices, so easy to add to everyday dishes to turn the ordinary into extraordinary. P.15

NEW HOT CHOCOLATE EXPRESSIONS; available in our best selling mini format and as a cute mug set, teriffic gifting items. P.49-51



- The Gourmet du Village team

NEW GIFTS...

NEW VILLAGE KIDS CHOCOLATE POPS; Adding to this very popular collection, two really sweet, DIY gift sets to share and make with the younger members of the family. DINO POP and HOLIDAY POP. P.34

NEW MUG SETS; 2 Kid sized mugs with 2 Mini Hot Chocolates with great designs available in WHIMSICAL and FESTIVE. P. 51

NEW COCKTAIL GIFT SETS; offered in 3 varieties, each featuring one of our best selling cocktail mixes combined with the matching glass Rimmer and presented in decorative gift boxes. P.27



HEALTHY LIVING AND A HEALTHIER PLANET

On our packaging we include symbols to help consumers make health conscious and eco friendly decisions when buying products.

Check the back of each package carefully, many are suitable for Gluten-Free, Low-Carb or Keto diets, or for Vegan and Vegetarian lifestyles. Also included are the eco-friendly disposal options as we are committed to sustainable packaging.



NEW LOOKS...

The entire **TO GO WITH CHEESE** collection has a fresh new unified, modern look. Everything from our BAKED BRIE toppings in boxes, to our CHEESE TOPPINGS in jars, to our CERAMIC BAKERS and GIFT SETS, to our BRIE SKILLETS. P.17-21

Our best selling SKILLETS, each packed with our gourmet goodies. We have replaced the previous wrap with a whole new stronger corrugated box with attractive new graphics to help them fly off the shelves. **P.21-22**







NEW TASTES...

NEW DIPS to die for: CAPRESE TOMATO BASIL and CREAMY MUSHROOM. P.5

Our **COCKTAIL** collection is growing with NEW on trend blends such as COSMO and LEMON GIN SPRITZ. P.29

Your favorite HOT CHOCOLATE minis celebrate the return of RED VELVET and PUMPKIN SPICE and welcome NEW 'Cotton Candy' a flavored, color changing Hot Chocolate to add to our best selling Whimsical collection. P.41 & 37

NEW GLASS RIMMERS for your Cocktails; A complete overhaul of this collection, plus we have added 2 new exciting varieties. P.27

FOLLOW THE SYMBOLS

In this catalogue we have included the use of 'Symbols' to identify product availability dates.





NEW YEAR ROUND PRODUCTS **AVAILABLE TO** SHIP MARCH 2023

NEW!

MAR

SEASONAL

PRODUCTS

AVAILABLE AUGUST

THROUGH DECEMBER



THAT RECEIVED A FOR 2023



HEAT SENSITIVE. **MELTING RISK IN** EXTREME HEAT. SHIPS WEATHER PERMITTING OCT-MAY

COLD SENSITIVE. BREAKAGE RISK IN EXTREME COLD. SHIPS WEATHER PERMITTING



INDEX

DIPS	
BAKED	
CHILLED	7
LARGE FORMAT	8
SEASONINGS	
SALTS	
MEAL STARTERS	
SIDES & BBQ COLLECTION	13
CANISTERS & EVERYDAY ESSENTIALS	14
BBQ SAUCE	16
TO GO WITH CHEESE	17 10
TOPPINGS/JELLIES.	
BAKED BRIE	
GIFT ACCESSOERIES	19
SKILLETS	20-23
BAKED BRIE	21
BAKED DIPS	21
DESSERTS	22
REFILLS BOX	23
CAMPFIRE COLLECTION	24-25
COCKTAILS	
RIMMERS & RIMMERS GIFT SETS	
COCKTAIL MIXES	
COOL MINIS SINGLE SERVE & MILKSHAKES	
FESTIVE DRINKS	32
DELICIOUS DESSERTS	
HOMEMADE COLLECTION	33
	33
HOMEMADE COLLECTION	33 34
HOMEMADE COLLECTION	33 34 36-49
HOMEMADE COLLECTION	33 34 36-49 37
HOMEMADE COLLECTION VILLAGE KIDS COLLECTION HOT CHOCOLATE MINIS WHIMSICAL SPECIALTY	33 34 36-49 37 38
HOMEMADE COLLECTION	33 34 36-49 37 38 41
HOMEMADE COLLECTION VILLAGE KIDS COLLECTION HOT CHOCOLATE MINIS WHIMSICAL SPECIALTY DESSERT NO SUGAR ADDED	33 34 36-49 37 38 41 43
HOMEMADE COLLECTIONVILLAGE KIDS COLLECTIONHOT CHOCOLATE MINISWHIMSICALSPECIALTYDESSERTNO SUGAR ADDEDFESTIVE	33 34 36-49 37 38 41 43 45
HOMEMADE COLLECTION VILLAGE KIDS COLLECTION HOT CHOCOLATE MINIS WHIMSICAL SPECIALTY DESSERT NO SUGAR ADDED	33 34 36-49 37 38 41 43 45
HOMEMADE COLLECTIONVILLAGE KIDS COLLECTIONHOT CHOCOLATE MINISWHIMSICALSPECIALTYDESSERTNO SUGAR ADDEDFESTIVE	33 34 36-49 37 38 41 43 45
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58
HOMEMADE COLLECTION VILLAGE KIDS COLLECTION HOT CHOCOLATE MINIS WHIMSICAL SPECIALTY DESSERT NO SUGAR ADDED FESTIVE INDULGENT MUG SETS	33 34 36-49 37 38 41 43 45 49 50-58 51
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52
HOMEMADE COLLECTION VILLAGE KIDS COLLECTION HOT CHOCOLATE MINIS WHIMSICAL SPECIALTY DESSERT NO SUGAR ADDED FESTIVE INDULGENT MUG SETS 12 DAYS OF CHRISTMAS BOMBS	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57
HOMEMADE COLLECTION . VILLAGE KIDS COLLECTION . HOT CHOCOLATE MINIS . WHIMSICAL . SPECIALTY . DESSERT . NO SUGAR ADDED . FESTIVE . INDULGENT . HOT CHOCOLATE GIFTS . MUG SETS . 12 DAYS OF CHRISTMAS . BOMBS . CUPS . CUPS . CUBES . ORNAMENTS .	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57 58
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57 58 59
HOMEMADE COLLECTION . VILLAGE KIDS COLLECTION . HOT CHOCOLATE MINIS . WHIMSICAL . SPECIALTY . DESSERT . NO SUGAR ADDED . FESTIVE . INDULGENT . HOT CHOCOLATE GIFTS . MUG SETS . 12 DAYS OF CHRISTMAS . BOMBS . CUPS . CUBES . ORNAMENTS . TOFFEE.	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57 58 59
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 57 58 60-61 62-63
HOMEMADE COLLECTION . VILLAGE KIDS COLLECTION . HOT CHOCOLATE MINIS . WHIMSICAL . SPECIALTY . DESSERT . NO SUGAR ADDED . FESTIVE . INDULGENT . HOT CHOCOLATE GIFTS . MUG SETS . 12 DAYS OF CHRISTMAS . BOMBS . CUPS . CUPS . CUBES . ORNAMENTS . TOFFEE . LIFTED TEA .	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 57 58 60-61 62-63
HOMEMADE COLLECTION	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 57 58 60-61 62-63 62
HOMEMADE COLLECTION . VILLAGE KIDS COLLECTION . HOT CHOCOLATE MINIS . WHIMSICAL . SPECIALTY . DESSERT . NO SUGAR ADDED . FESTIVE . INDULGENT . HOT CHOCOLATE GIFTS . MUG SETS . 12 DAYS OF CHRISTMAS . BOMBS . CUPS . CUBES . ORNAMENTS . TOFFEE . LIFTED TEA . DISPLAYS . MAKE YOUR OWN DISPLAY .	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 57 58 59 60-61 62-63 62 63
HOMEMADE COLLECTION . VILLAGE KIDS COLLECTION . HOT CHOCOLATE MINIS . WHIMSICAL . SPECIALTY . DESSERT . NO SUGAR ADDED . FESTIVE . INDULGENT . HOT CHOCOLATE GIFTS . MUG SETS . 12 DAYS OF CHRISTMAS . BOMBS . CUPS . CUBES . ORNAMENTS . TOFFEE . LIFTED TEA . DISPLAYS . MAKE YOUR OWN DISPLAY . WOODEN DISPLAY .	33 34 36-49 37 38 41 43 45 49 50-58 51 52 54 56 57 58 59 60-61 62-63 62 63 63



NEW CERAMIC DIP BAKER KIT

A fresh new look for our 2 piece ceramic Dip Baker + lid with a recipe box of Baked Dip mix. Baker is 15.5cm wide, 5.5 cm deep (6" x 2.25") capacity 500ml (17oz). Perfect as a hostess gift, ready to serve from 'oven to table' for a Baked Dip or Baked Brie (See Baked Brie gift set Page 19).

3 OF OUR BEST BAKED DIPS

3 of our very best Baked Dip recipe boxes in a "Party Pack", "Trio" or "Gift Wrap" format, we simply call it "3 of Our Best". Each of the recipe boxes included makes 2-4 cups (16-32 oz.) of delicious dip, for a total of 6-12 cups (48-96 oz.) per Party Pack!



RED CERAMIC BAKER GIFT SET WITH FRENCH ONION DIP EBAKRFO 14.50 (case 4/58.00)



WHITE CERAMIC BAKER GIFT SET WITH PARMESAN ARTICHOKE DIP FRAKWPA 14.50 (case 4/58.00)



BAKED DIP 1

TREMPETTE

SAKED DIP

REMPETTE

BAKED DIP

TREMPETTE

TR

BAKED DIP PARTY PACK Cheddar & Bacon, French Onion GDIPTBD 6.50 (case 6/39.00)



Wonderful to enjoy straight from the oven, a great appetizer to serve with crusty bread or crackers, the richest and creamiest of dips.

'Easy to make Homemade' with our great tastes and easy to follow recipes, each baked dip blend makes a generous 2-4 cups (16-32 oz.) of delicious dip from our pre-portioned pouches. Better tasting than in a restaurant, made easily at home, with common ingredients most already have in their fridge or pantry.

NEW THIS SEASON

NEW BAKED CAPRESE TOMATO BASIL DIP is to die for, the creamy taste combination of cheese, tomatoes, basil, oregano and garlic, topped with extra cheese and optional cherry tomatoes is outstanding, this one is not to be missed. Makes 2.5 cups (20 oz).

NEW CHEESY MUSHROOM DIP the name

describes it that well, whole chunks of dehydrated mushroom add to the texture and enjoyment. Easy to prepare and serve either as a Baked Dip or classic Chilled Dip. Makes 2.5 cups (20 oz).









village

BAKED CRAB

GDIPXCR

2.10 (case 12/25.20)

BAKED CRAB



GDIPXSP 2.10 (case 12/25.20)







3 OF OUR BEST CHILLED DIPS

3 of our very best recipe boxes in a "Party Pack". Each of the 3 recipe boxes makes 2 cups (16 oz) of delicious dip for a total of 6 cups (48oz.) per Party Pack!



CHILLED DIP PARTY PACK Includes: Lemon Dill, Roasted Pepper, Roasted Garlic GDIPTCD 6.50 (case 6/39.00)

DELICIOUS **DIPS FLOOR** DISPLAY

Features 120 of our best selling chilled and baked dips in our recipe box format.

(Image for reference purposes only, assortment subject to change based on inventory at time of shipment).

(Win TREMPETTE TREMPETTE TREMPETTE BAKED DIP BAKED DIP BAKED DIP TREMPETTE TREMPETTE TREMPETTE

DELICIOUS DIPS FLOOR DISPLAY EKITSDP Features 120 of our best selling dips in our recipe card format. (1) 262.00

CHILLED REFRESHING DIPS

All of our chilled dips are so easy to make, for most recipes, just add sour cream and real mayonnaise to our versatile blends of dried Herbs & Spices, chill and serve with crisp veggies or crackers. They taste even better if left refrigerated for a few hours or overnight.

Have leftovers? Try using them as a sandwich spread, as a burger sauce, in a baked potato or add cream/milk for a wonderful salad dressing.



2.10 (case 12/25.20)



ROASTED GARLIC GDIPXRG 2.10 (case 12/25.20)



AUT 14 A /0.5 (

GDIPXST

2.10 (case 12/25.20)







GDIPXBL 2.10 (case 12/25.20)

LIME CILANTRO GDIPXLC 2.10 (case 12/25.20)



recipe, but an alternative recipe for ways to use our versatile Herb & Spice blends. Each makes a full 2 cups (16oz) of delicious dip, in a pre-portioned pouch for the perfect recipe every time.



DIP CANISTERS

village

Our best selling dip varieties, in a large format, recyclable board container with reclosable lid. The canisters are aluminium foil lined for freshness, plus the dips come in a sealed protective pouch to prevent moisture. Each canister makes between 5-6 recipes, 12-18 cups (96-144 oz.) of delicious dip. A great value for our versatile blends.





CREAMY SPINACH Makes 6 recipes GDIPCSP 5.50 (case 6/33.00)



Makes 6 recipes GDIPCRG 5.50 (case 6/33.00)



PARMESAN & ARTICHOKE Makes 5 recipes GDIPCPA 5.50 (case 6/33.00)



Makes 6 recipes GDIPCLD 5.50 (case 6/33.00)



FRENCH ONION Makes 5 recipes GDIPCFO 5.50 (case 6/33.00)

FINISHING SALTS

Our all natural finishing salts are the perfect touch for all dishes, just add a pinch to taste. Unrefined, infused with natural ingredients, no artificial flavors or chemicals, prepared with artisan craftsmanship, the tastes and quality are outstanding, try them on savory or sweet dishes. Each specialty salt comes in a card container with reclosable lid, aluminium foil lined for freshness, plus packaged in a sealed protective pouch with a small silica gel pouch for triple protection against moisture.

Each case of 6 comes with 6 FREE bamboo serving spoons. They finish the presentation and help to avoid putting fingers in the canisters.



SPANISH ROSEMARY

GSALTSR

4.95 (case 6/29.70)

village

Δ

BLACK HAWAIIAN

GSALTBH 4.95 (case 6/29.70)

NOR DHAVA

POIDS NET 90G (32



4.95 (case 6/29.70)



GSALTRG 4.95 (case 6/29.70)

LEMON GSALTLM

ROASTED GARLIC



SMOKED APPLEWOOD GSALTSA 4.95 (case 6/29.70)



GHOST PEPPER GSALTGP 4.95 (case 6/29.70)



EVERYDAY MEAL STARTER ESSENTIALS

We make it easy to prepare an extraordinairy meal for family and friends. Each 'Meal Starter' recipe box contains a special blend of Herbs & Spices to help make delicious, gourmet meals with ease.

Just follow our simple recipes; add our pre-portioned pouch of seasonings to a few fresh ingredients, follow the directions and serve. They are so good, everyone will be asking for the recipe.



JAMAICAN JERK Makes 4-6 servings GSEAXJJ 2.10 (case 12/25.20)

TACO Makes 4-6 servings GSEAXTC 2.10 (case 12/25.20)

FAJITA Makes 4-6 servings GSEAXFJ 2.10 (case 12/25.20)



PORTUGUESE PIRI PIRI

akes 6 servin GSEAXPI

2.10 (case 12/25.20)



GREEK CHICKEN lakes 6 servin GSEAXGK 2.10 (case 12/25.20)

MOROCCAN TAJINE Aakes 6-8 servir GSEAXTJ 2.10 (case 12/25.20)

NEW JAMAICAN JERK

For a taste of the Caribbean at home this smoky, sweet and spicy blend is sure to send your taste buds to paradise. Makes 4-6 servings.

NEW MEAL STARTER PARTY PACK

3 of Our Best PARTY PACK, our very best meal starter recipe boxes in a "Party Pack". Each of the recipe boxes inside provides all the seasonings for a special family sized meal!

FLOOR DISPLAY

Image for reference purposes only, assortment subject to change based on inventory at time of shipment.









STIR FRY Makes 4-6 servings GSEAXIS 2.10 (case 12/25.20)



INDIAN BUTTER CHICKEN Makes 6-8 servings GSEAXBU 2.10 (case 12/25.20)





CAST IRON FAJITA KIT Includes 38x18cm/15x7 st Iron Skillet. with seasonings, wooden tray & handle mitt EFAJK01 20.00 (case 4/80.00)



MEAL STARTER PARTY PACK Includes: Butter Chicken, Piri Piri, Greek Chicken GSEATMS 6.50 (case 6/39.00)



MEXICAN SEASONING PARTY PACK Includes: Fajita, Taco, Guacamole GSEATMX 6.50 (case 6/39.00)



SMOKY CHEDDAR MAC & CHEESE SEASONING: This seasoning blend elevates this classic dish with a creamy cheddar cheese taste and a smoky bacon flavor.

GREEK POTATO SEASONING: The classic Mediterranean flavor profile with lots of garlic and oregano brings a ton of flavor. Can be made in the oven or an air fryer using sweet or regular potatoes.

GRILLED VEGETABLE SEASONING: Season your veggies with this blend for a bright and robust dish. Made on the grill for a foolproof side for your next barbeque.

SPICY POTATO FRY SEASONING: Give your potato's a little kick mixed with a hint of sweetness this blend is sure to delight. Can be made in the oven or an air fryer using sweet or regular potatoes.

SPICY POTATO SEASONING



BARBECUE SEASONINGS FLOOR DISPLAY EKITSBB 120 assorted best selling seasonings. Assortment subject to change based on inventory at time of shipment. (1) 262.00

SEASONING CENTRAL

Our easy to use blends of seasonings and recipes take all the guesswork out of serving delicious BBQ dishes to family and friends.

Introducing a NEW 'SIDES' COLLECTION, What to serve on the side is always a puzzle... Try our easy to make recipes to go with the main dish. Featuring; delicious seasonings and recipes for tasty Potato wedges, Mac 'N' Cheese' and Veggies, all easy to make as per usual and definitely not lacking flavor.





SMOKY CHEDDAR MAC & CHEESE SEASONING (Noodles NOT include GSEAXMC 2.10 (case 12/25.20)

GREEK POTATO SEASONING GSEAXGP 2.10 (case 12/25.20)



PULLED PORK

GSEAXPP 2.10 (case 12/25.20)

Seasoning ALL ET EPICES assai CONNEMENT

villas

BURGER GSEAXBG 2.10 (case 12/25.20)

STEAK RUB GSEAXST 2.10 (case 12/25.20)



BEER CAN CHICKEN GSEAXBC 2.10 (case 12/25.20)



POUTINE SAUCE MIX *ONLY AVAILABLE IN CANADA* GSESXPT 2.50 (case 8/20.00)





GSEAXSF 2.10 (case 12/25.20)



GRILLED VEGETABLE SEASONING GSEAXVG 2.10 (case 12/25.20)





RIB RUB GSEAXRR 2.10 (case 12/25.20)

WILL A LA ALLA

BURGE

BBQ



MAPLE PEPPERCORN GSEAXMP 2.10 (case 12/25.20)

BBQ SEASONINGS PARTY PACK Includes Beer Can Chicken, Burger, Pulled GSEATBQ k seasonings 6.50 (case 6/39.00)



Our Recipe boxes all come in this easy to merchandise branded display box.



LARGER FORMAT SEASONINGS & RUBS

The blends your customers know and love, in a recyclable board canister. The canisters are aluminium foil lined to provide a long shelf life for the seasonings, which also comes in a sealed protective pouch for double protection against moisture. Lighter for shipping and non breakable too.



BEER CAN CHICKEN GSEACBC 5.50 (case 6/33.00)



RIB RUB Makes 10 racks of ribs GSEACRR 5.50 (case 6/33.00)



STEAK RUB 25 servings GSEACST 5.50 (case 6/33.00)



PULLED PORK Makes 5 recipes, 50 sandwich GSEACPP es 100 sliders 5.50 (case 6/33.00)



5.50 (case 6/33.00)



MAPLE PEPPERCORN 24 servings GSEACMP 5.50 (case 6/33.00)

EVERY DAY ESSENTIALS FOR THE PANTRY

Introducing 5 new every day seasonings that should be in every pantry. Perfect to add a pinch of this, or a dash of that as needed. Try them to add flavor to your fine French, Italian or Mediterranean dishes or to add a little punch to BBQ sauces, meats, potatoes and veggies.

MESQUITE BBQ: An amazing flavorful, spicy and smoky seasoning, add it to pulled pork, rich meats like ribs, steak even poultry, salmon or your favorite dip.

MEDITERRANEAN: Oregano, basil and rosemary top the list of ingredients, perfect with grilled chicken, lamb, vegetables for satay and kebabs.

ITALIAN: The perfect addition to your pasta sauces, marinades, chicken or beef, great on grilled vegetables or pizza, or added to homemade soups or sauces.

BLACKENED CAJUN: Savory & Spicy describe this blend, but not too spicy so you can taste the true flavors of your cooking. A classic with chicken and fish, try it in your Gumbo.

HERBES DE PROVENCE: An essential seasoning for French cooking, adds a distinctive flavor to chicken, roasted vegetables, grilled fish, tomato based soups & stews.



GSEACIT 4.00 (case 6/24.00)







BARBECUE SAUCES

Hand crafted in small batches, our 4 barbecue sauces are full of delicious flavor, natural ingredients, perfect served straight from the bottle. Use them for marinating, basting during cooking, or as a dipping sauce.

NEW SMOKED APPLEWOOD

The wonderful fruity and tangy flavor of this new variety of BBQ sauce is sure to become a best seller.



This sauce is everyone's favorite, featuring a slightly dark craft stout beer with just the perfect amount of sweetness.



SMOKED APPLEWOOD GSAU3SA 4.75 (case 12/57.00)



CRAFT BEER GSAU3BQ 4.75 (case 12/57.00)

SMOKY MAPLE CHIPOTLE

The taste of pure Canadian maple syrup with a kick of chipotle peppers. Visitors love it as much as locals.



SMOKY MAPLE CHIPOTLE GSAU3MB 4.75 (case 12/57.00)



PEACH

BOURBON

Launched in 2021, the

juicy peaches with

taste of southern grilling,

PEACH BOURBON GSAU3PC 4.75 (case 12/57.00)







BAKED BRIE TOPPINGS

All dressed up in fancy new packaging graphics for 2023. Each box is filled with pre-portioned pouches of our natural blends of toppings, featuring dried fruits, nuts and spices. Prepare in an oven proof dish or skillet following our simple instructions, serve with crusty artisan bread, fruits, crackers or your side choice. Great as an appetizer to share.



APPLE SALTED CARAMEL GBRIESC 2.75 (case 8/22.00)



FIG & PISTACHIO GBRIEFP 2.75 (case 8/22.00)



PECAN & BROWN SUGAR GBRIEPS 2.75 (case 8/22.00)



OVEN PROOF BRIE AND DIP BAKERS

Perfect as a hostess gift, ready to serve from 'Oven to Table'. Versatile ceramic 2 piece bakers with lid, available alone or in a gift box with one of our favorite Brie Toppings or Baked Dip seasonings. Perfect to bake and serve a Baked Brie, Baked Dip, or to prepare a small casserole to share. (See Baked Dip gift sets Page 4).

NEW RED BRIE BAKER GIFT SET

2 piece Red Ceramic Brie Baker with lid and a box of our 'Cranberry Almond' Brie toppings, easy to follow recipe, just add a round of Brie or Camembert cheese, prepare, bake and share. Baker is, 15.5cm wide, 5.5 cm deep (6" x 2.25") capacity 500ml (17oz).

12.00 (case 4/48.00)





CRANBERRY ALMOND GBRIECA 2.75 (case 8/22.00)



APPLE & PECAN GBRIEAP 2.75 (case 8/22.00)



MAPLE & WALNUT GBRIEMW 2.75 (case 8/22.00)

BRIE TOPPINGS FLOOR DISPLAY EKITSB2 90 Brie Toppings. Assortment subject to change based on inventory at time of shipment. (1) 257.50

NEW WHITE BRIE BAKER GIFT SET

2 piece White Ceramic Brie Baker with lid and a box of our tasty 'Fig & Pistachio' Brie toppings, The sweetness of dried figs and subtle taste of pistachio nuts, pairs perfectly with a soft round of Baked Brie. Baker is, 15.5cm wide, 5.5 cm deep (6" x 2.25") capacity 500ml (17oz).

> Capacity 500ml/17oz/2 cups EBAKEWH 12.00 (case 4/48.00)



COOKING WITH CAST IRON

Easy to use, easy to care for, and foods prepared in these taste the absolute best.

A Cast Iron Skillet is perfect for preparing a satisfying appetizer, meal, dessert or snack. A delicious Baked Brie with our toppings or one of our delicious Homemade Baked Dips. Serve hot from the oven, barbecue or even the campfire, the cast iron makes a perfect serving dish and keeps the recipe hot much longer.

Cast iron cookware is so versatile, a breeze to clean up, is naturally non-stick and incredibly solid. See bottom of the opposite page for care instructions.

CHEESY NACHO BAKED DIP SKILLET

SKILLET BRIE OR CAMEMBERT

Our complete kit contains a 6.3" (16 cm) diameter cast iron skillet filled with a pouch of our tastiest Baked Brie toppings. Take a small 8oz (225 g) round Brie or Camembert Cheese, score the top with a knife, place it in the skillet, top off the cheese with the easy to prepare toppings, bake 15-20 minutes, serve hot from the skillet. Easy as 1, 2, 3...



SKILLET DIPS

These kits include an 8" (20cm) skillet and a pouch of one of our best selling dips. Serve a piping hot baked dip prepared with our tasty blends of Herbs & Spices (included) and topped with a crusty layer of cheese in our 8"(20cm) cast iron skillet. Served straight from the oven to table. The cast iron will keep the dip hot while being shared and enjoyed.



CARE INSTRUCTIONS: Hand wash with mild soap to preserve the natural non-stick properties in order to enjoy the skillet for years to come. Our skillets are pre-seasoned, but as with all cast iron, they should be washed, dried and then re-oiled ready for the next use. This will reduce the chances of rusting as well. Very important also to never use a metal knife or utensil in the cast iron skillet, to avoid damaging the natural non-stick finish of the seasoned skillet.





An Eco-friendly gift These cast iron skillets are the opposite of disposable and will be cherished and last for years and years.

ECBRIFP 10.50 (case 4/42.00)



SKILLET DESSERTS FROM OVEN TO TABLE

NEW!

MAR

Cast Iron Skillets are ideal for making desserts, such as our latest Skillet Cobbler or Skillet Scone. Cast Iron desserts offer a baked exterior with a warm center. The perfect way to serve and keep them piping hot straight from the oven to the table in the skillet, easy to share, just take a spoon and dig right in.

NEW SKILLET COBBLER

This 16 cm (6.3") cast iron skillet comes with a delicious Cobbler mix, just add milk, and fresh or frozen berries, mix gently, bake, serve and share a scrumptious fresh Cobbler, fresh from the skillet.

NEW SKILLET CRANBERRY SCONES

This kit comes complete with a 16cm (6.3") cast iron skillet, easy to bake scone mix with dried cranberries and almonds, simply add some milk, mix, bake and serve warm with whipped cream or butter.



12.50 (case 4/50.00)



Makes 4 servings ECSMOUN 12.50 (case 4/50.00)

NEW!

MAR



DESSERT REFILLS

Easy to prepare and share as refills for our cast iron skillet or prepare in an oven proof dish. Enjoy these yummy desserts, or gooey S'Mores. Simple recipes, that will keep everyone coming back for more. Box dimensions: 10cm H x 10cm W x 10cm D (4" H x 4" W x 4" D)

For more desserts see page 33-35.



COBBLER Makes 2 recipes, each 4-6 serving BDESXCO 4.00 (case 6/24.00)

APPLE CRUMBLE

Makes 2 recipes, each 4 serving GAPPXAP

4.00 (case 6/24.00)



CHOCOLATE BROWNIE



Makes 4 servings Includes milk cho BSMOXSM

(HEAT SENSITIVE: Melting risk for the chocolate wafers in extreme heat. Ships seasonally weather permitting.

10.95 (case 4/43.80)

lakes 4 serving GBROXCB 4.00 (case 6/24.00)

S'MORES DIP arshmallows 4.00 (case 6/24.00)



Our packaging is recyclable and compostable. Printed with vegetable based ink and water based finishing making them all eco-friendly.



CHOCOLATE CHIP COOKIE Makes 4 servings GCOOXCH 4.00 (case 6/24.00)



UNICORN S'MORES DIP Makes 4 servings Includes white chocolate and colored marshmallows BSMOXUN 4.00 (case 6/24.00)



CAMPFIRE COLLECTION

6.3 inch

(16cm)

Fun, warming and sharing are all words that describe this collection. Perfect for the 'Great Outdoors', the campsite, the lake, the backyard, the cottage or even the great indoors in the oven. Enjoying a hot gooey S'mores served in a cast iron skillet and a mug of Hot Chocolate, as a treat.

S'MORES DIP

Our S'mores cast iron skillet kit is so much fun to make and share, just layer the chocolate morsels (included) add a little cream then top with the mini marshmallows (also included) bake in the oven or over the campfire, serve and smile.

Also available in a convenient box refill, with the same contents as the skillet kit (Graham Crackers not included).

CAMPFIRE MARSHMALLOWS

A sealed, moisture proof plastic bottle filled with dehydrated mini marshmallows to keep them fresh all season long, enough for many mugs of warming hot cocoa.

CAMPFIRE COCOA AND HOT CHOCOLATE

Attractive, convenient, moisture proof, single serve pouches, ready to add to hot water, tastes even richer with hot milk, stir and enjoy.

NEW S'MORES COCOA, Filled with our Double Truffle Hot Chocolate blend with mini dehydrated marshmallows with the taste of creamy S'mores, one of our best sellers.

MAPLE COCOA. Filled with our Double Truffle Hot Chocolate with the true taste of Maple syrup added

CAMPFIRE COCOA, Filled with our finest Double Truffle Hot Chocolate blend with mini dehydrated marshmallows.

CAMPFIRE COCOA IN A LARGER CUBE BOX

Plenty to share and enjoy, inside is a 140g (4.9oz.) sealed pouch of our Double Truffle Hot Chocolate with mini dehydrated marshmallows, enough to serve 4-6 mugs of warming hot cocoa.

CAMPFIRE MUG GIFT

An attractive gift box holds a keepsake ceramic mug, reminiscent of the 1950s enamel mug. Decorated with great campfire graphics along with a single serve pouch of our campfire cocoa. Mug holds a generous 400ml (13 oz) and measures 9cm (3.5") x 9cm (3.5")



Double Truffle with



CAMPFIRE CUBE Makes 4-6 servings (140g / 4.9oz) GCHOXCF 4.00 (case 6/24.00)



MORE WAYS TO ENJOY OUR COCKTAILS

Introducing a new collection of 'Glass Rimmers' to step up the cocktail game, lift the flavor and enhance the presentation with these great sugar and salt blends for all kinds of cocktails. Also available in 3 new Cocktail Gift sets.



New flavors, new look and brand new packaging for our cocktail rimmer collection

Now packaged in beautifully printed carton canisters, foil lined on the inside for optimal freshness and storage for multiple uses once opened.

COCKTAIL GLASS RIMMERS

The perfect finish to the perfect Cocktail, Our collection of best selling Glass Rimmers for cocktails has just doubled with the addition of 2 new flavored sugar blends and a brand new bold look. Great flavours to go with an array of cool cocktails.

NEW CRANBERRY LIME SUGAR; Tangy and tart perfect with a Cosmo, Sangria or any other sweet or semi sweet classic cocktail.

NEW CITRUS SUGAR; a bright lemon based sugar, splendid with our new Lemon Gin Spritz, Paloma, a Frosé or any refreshing thirst quenching cocktail.



CRANBERRY LIME SUGAR RIMMER Makes 40 portions TRIMCCL 5.00 (case 6/30.00)

CITRUS SUGAR RIMMER Makes 40 portion TRIMCCT 5.00 (case 6/30.00)

NEW COCKTAIL GIFT SETS FOR OPTIMAL **ENJOYMENT**

Three exciting new cocktail gift sets; a great hostess gift, Mother's or Father's Day, for the holidays, a gift that is sure to be used and enjoyed.

Each gift box contains a box of one of our classic cocktail mixes paired with a complimenting glass rimmer, all in card packaging.

THESE GIFT SETS INCLUDE:

- 1 Cocktail Rimmer
- 1 Cocktail Drink Mix Box (6-40 portions)



MARGARITA GIFT SET - DRINK MIX & RIMMER EBARKMA 8.50 (case 4/34.00)



SEASONED SALT RIMMER FOR BLOODY MARY/CAESAR kes 40 portion TRIMCBM 5.00 (case 6/30.00)



CITRUS SEA SALT RIMMER FOR MARGARITA akes 40 portior TRIMCMA 5.00 (case 6/30.00)



COSMO MIX GIFT SET - DRINK MIX & RIMMER EBARKCO 8.50 (case 4/34.00)



BLOODY MARY GIFT SET- DRINK MIX & RIMMER EBARKBM 8.50 (case 4/34.00)



BLOODY MARY COCKTAIL

Our Cocktail mix boxes are recyclable and compostable, printed with vegetable based ink and water based finishing making them all ecofriendly.

They all come in this easy to merchandise branded display box, with all the same eco-friendly properties as well.







SANGRIA Just add Wine and soda water Makes 6 servings TSANXWC 2.50 (case 6/15.00)



PEACH SANGRIA Just add Wine and soda water Makes 6 servings TSANXPC 2.50 (case 6/15.00)

COCKTAIL MIXES FOR ALL SEASONS

Our collection continues to grow, introducing two new refreshing cool drinks, a classic Cosmo and a refreshing Lemon Gin Spritz, and a new warming Caramel Apple Toddy all in a larger box format to share and enjoy.

Each of our boxes of Cocktail mix makes 4-6 or more servings, with easy to follow recipes resulting in a wonderful, refreshing cocktail to enjoy or share.

See Page 31 many of these great tastes are now available in single serve portion pouches. And don't miss our glass Rimmers on Page 27.

NEW LEMON GIN SPRITZ

Cool tangy and refreshing would best describe our latest Cocktail. Lemon Gin Spritz, easy to make with our simple recipe, add a little water to our mix, some Gin and top with Prosecco. To elevate this Spritz, serve in a highball glass with the rim trimmed with our new 'Citrus Sugar Rimmer'.



Combine with water, Gin and Pr Makes 6 servings TGINXLM 2.50 (case 6/15.00)

NEW COSMO COCKTAIL

This classic cocktail features Cranberry and Vodka; the perfect addition to our collection. See Page 31 for how to make these even more special, trim the edge of your glasses with one of our growing collection of 'GLASS RIMMERS'. Serve it chilled in a martini glass with the rim trimmed with our new 'Cranberry Lime Sugar'.



COSMO Shake our mix with water and Vodka. Makes 6 servings TCOSXCO 2.50 (case 6/15.00)

NEW CARAMEL APPLE TODDY

Cool fall days, the Holiday season, Après ski, these are all perfect occasions to enjoy this warming tasty beverage. Launched last year to great acclaim, in the single serve mini format, now available in a larger box size with enough to make 4 servings.



CARAMEL APPLE TODDY Combine with water, Bourbon and Vodka and heat Makes 4 servings TTODXCA 2.50 (case 6/15.00)



BLOODY MARY/CAESAR n Vodka and tor clamato juice. Makes 40 servings TBLO1BM 2.50 (case 6/15.00)



PALOMA Mix our Grapefruit lime Paloma mix with water, Tequila, and soda. Makes 6 servings TPALXPA 2.50 (case 6/15.00)



LIME MARGARITA Mix with water then shake with Tequila and Triple sec. Makes 6 servings TMAR1LM 2.50 (case 6/15.00)



CRANBERRY PROSECCO Just add bubbly Prosecco a Makes 6 servings TPROXCP 2.50 (case 6/15.00)



COCO-LIME MARGARITA with water then shake w Tequila and Triple sec. Makes 6 servings TMAR1CL 2.50 (case 6/15.00)



CRANBERRY SANGRIA Just add Wine and soda v Makes 6 servings TSANXCS 2.50 (case 6/15.00)



FROSÉ THE SUMMER AWAY

A light, refreshing, slushy Rosé Wine drink. Simply combine our mix with Rosé Wine and ice cubes, blend and serve in chilled glasses straight from the freezer. Each box makes 6 servings to share and enjoy.



with Rosé Wine and ice Makes 6 servings TFROSST 2.50 (case 6/15.00)



PEACH FROSÉ d with Rosé Wine and ice Makes 6 servings TFROSPC 2.50 (case 6/15.00)



WATERMELON FROSÉ nd with Rosé Wine and ice Makes 6 servings TFROSWM 2.50 (case 6/15.00)

NO MUDDLING WITH OUR MOJITOS

We make it so easy to prepare and enjoy a cool refreshing Mojito, perfect every time. Just add white rum, soda water and some ice, to our mix, stir and serve, no muddling required...



PINEAPPLE COCONUT MOJITO Just add soda water. White Burn and ice Makes 3 servings 2.50 (case 6/15.00)



MOJITO Just add soda water. White Rum and ice Makes 3 servings TMOJ1MO 2.50 (case 6/15.00)



WATERMELON MOJITO Just add soda water. White Rum and ice Makes 3 servings 2.50 (case 6/15.00)



COCKTAILS FLOOR DISPLAY EKITSS2 75 wine & cocktail drink mixes. Assortment subject to change based on inventory at time of shipment (1) 197.50

WE MAKE **ENJOYING** FAVORITE COCKTAILS **EVEN SIMPLER**

Enjoy these mini single serve pouches of our best selling cool cocktail mixes any time. So easy and convenient to make anytime you wish to savor a special cocktail.



SANGRIA MINI Single serve 0.77 (case 24/18.48)

LIME MARGARITA MINI Single serve 0.77 (case 24/18.48)

COLOR CHANGING, **REFRESHING MILKSHAKES**

These orange, blue, purple, pink, green color changing Milkshakes are sure to bring a smile, just like our best selling whimsical Hot Chocolates. So simple to make yet so delicious and fun to enjoy.

Just add 11/2 cups of ice cream and 1/2 cup of milk to our color changing vanilla flavored mix and whip it up in a blender. Serve in a tall milkshake glass or old style milk bottle to make them extra special, top with whipped cream and of course a cherry on top.

NEW DRAGON MILKSHAKE

0.77 (case 24/18.48)

Orange flavored and color changing milkshake, a creamy orange vanilla taste which then magically changes color. So easy to make and so appealing to kids, let them watch as they are made. Adding cold milk and ice cream in the blender and see the color of the white mix change to orange serve up this creamy confection and enjoy. The product has zero trans fat.



HIPPOCAMPE MAIIVE SEAHORSE MILKSHAKE

Turns Blue when prepa vanilla flavor TSHAMSH-U 0.77 (case 24/18.48)

Turns Purple when prepa vanilla flavor TSHAMSE-U 0.77 (case 24/18.48)







COCO-LIME MARGARITA MINI Single serve 0.77 (case 24/18.48)



STRAWBERRY FROSÉ MINI Single serve 0.77 (case 24/18.48)









UNICORN MILKSHAKE Turns Pink when prepa vanilla flavor TSHAMUN-U 0.77 (case 24/18.48)



DINOSAUR MILKSHAKE Furns Green when prepa vanilla flavor TSHAMDI-U 0.77 (case 24/18.48)



HOLIDAY PARTY SIPPERS



NEW LOOK FOR OUR MULLING

The best quality whole dried spices and citrus peel (Whole cloves, Allspice berries, cracked Cinnamon pieces and Orange peel).

For a classic mulled red wine; use an inexpensive Cabernet Sauvignon or Merlot for great fruity taste and not too many tannins. Follow the recipe and add our Mulling Spices, a little sugar, orange juice and simmer. Dimensions: See page 14



OUR 'PARTY SIPPERS' ARE STILL PARTYING...

This gift set for the holidays continues to be a best selling favorite. For this coming season we have given it a fresh new graphic look to help it stand out on NO BAKE CHOCOLATE CHEESECAKE

HOMEMADE 'BAKING' & 'NO BAKE' KITS

We really do make it 'Easy to Make Homemade' these out of the ordinary, gourmet dessert treats are so easy to make with our DIY kits, ingredients and easy to follow recipes.

NEW HOMEMADE 'NO BAKE' CHOCOLATE CHEESECAKE SET

THIS DIY SET INCLUDES:

- · Red silicone mold for 6 chocolate cups 21.5cm x 14.5cm x 3.5cm (8.5" x 5.75" x 1.5")
- Milk Chocolate morsels
- · Chocolate cheesecake mix with a hint of Salted Caramel
- Caramel bits for topping
- · Easy to follow recipe sheet

This set has everything to make the no bake cheesecakes, silicone mold to form the cups, a decadent cheesecake filling with a lovely chocolate flavor with a hint of salted caramel. Such an easy to make dessert, with such elegant presentation. Follow our easy instructions, using the silicone mold included to make the chocolate cups. Just about everything is included, all you have to add is cream cheese and whipped topping and voila you have made spectacular individual desserts. Mini no bake Chocolate Cheesecakes with a hint of Salted Caramel, dessert for 6.

HOMEMADE MOLTEN BROWNIE SET

THIS DIY SET INCLUDES:

- 4 White Ceramic Ramekins (150ml/5oz, 8.8cm/3.5" D x 4.2cm/1.65" H)
- Chocolate brownie mix
- Chocolate wafers
- · Easy to follow recipe sheet

This set contains enough to make 4 individual Molten Brownies, a decadent dessert much like a Lava cake. Just add some eggs and butter, can be served hot from the oven in the ramekin or turned out hot onto a small plate served with ice cream or whipped cream.

(HEAT SENSITIVE: Melting risk for the chocolate wafers in extreme heat. Ships seasonally weather permitting.

SEASONAL PRODUCTS: available August to December 2023. *Subject to availability outside these dates 32







OUR "VILLAGE KIDS" COLLECTION IS GROWING

The launch of this collection last year, our 40th anniversary year, was a great success. 'Village Kids,' a Gourmet Collection of easy to make recipes and baking for kids to do with loved ones, pyjama parties, a Saturday afternoon etc... Fun and educational projects resulting with different tasty treats to share, each include a keepsake accessory for years of fun to follow.

NEW KIDS CHOCOLATE POPS; possibly one of the best for our new catalogue... two really sweet, excuse the pun, gift sets for 2023.

NEW KIDS DINO CHOCOLATE POPS

THIS DIY SET INCLUDES:

- Green silicone mold with 8 Dinosaur shapes (4 different characters, 2 of each). 14cm x 10.5cm x 1.5cm (5.5" x 4.5" x 0.5")
- 8 paper lolipop sticks
- Milk chocolate morsels
- Green coloured sprinkles
- Easy to follow recipe sheet

The reusable, dishwasher safe, green dino silicone mold makes this kit so much fun and special when used with the milk chocolate and finished with green sprinkles, all included. Makes 8 fun, and tasty milk chocolate dino pops.



CHOCOLATE DINO POP SET Makes 8 lolipops EKIDKDI 10.00 (case 4/40.00)

NEW HOLIDAY CHOCOLATE POPS

THIS DIY SET INCLUDES:

- Red silicone mold with 8 holiday shapes (3 different holiday shapes, 4 christmas tree, 2 santa and 2 reindeer) 14cm x 14cm x 1.5cm (5.5" x 5.5" x 0.5")
- 8 paper lolipop sticks
- · White chocolate morsels
- · Red, green & white coloured sprinkles
- · Easy to follow recipe sheet

The reusable, dishwasher safe, red holiday silicone mold makes this kit so much fun and special when preparing for the holiday season. Making Holiday Chocolate pops will become a new family holiday tradition. Makes 8 white chocolate holiday shaped pops topped with sprinkles.



CHOCOLATE HOLIDAY POP SET akes 8 lolipops EKIDKFS 10.00 (case 4/40.00)

KIDS CHOCOLATE CHIP PANCAKE SET

THIS DIY SET INCLUDES:

- · Red silicone pancake mold with handles featuring heart, star, flower, and circle shapes, 35cm x 19cm x1.5cm (13.75" x 7.5" x 0.5")
- Pancake mix
- Chocolate chips
- · Easy to follow recipe sheet

Our specially designed safe silicone mold is so easy to use without burning those little fingers or risking cutting them on sharp metal cutters. Just heat a pan (best if it is non stick), carefully place the mold in the pan, add our prepared pancake mix, sprinkle with chocolate chips (included) and watch them turn golden brown on one side, flip over with the easy to use silicone handles. Lots of safe fun for the family.

CHOCOLATE CHIP PANCAKE SET lakes 8 pancal EKIDKPA 8.50 (case 4/34.00)

KIDS UNICORN BROWNIE SET

THIS DIY SET INCLUDES:

- · Pink Silicone Mold with 6 Unicorn heads, 26cm x16cm x 3cm (10.25" x 6.25" x 1")
- Chocolate brownie mix
- Rainbow colored sprinkles
- · Easy to follow recipe sheet

The reusable, dishwasher safe Unicorn silicone mold makes this kit so fun and special when combined with our easy to make and bake chocolate Brownie mix.

> UNICORN BROWNIE SET Makes 12 browr EKIDKBR 12.50 (case 4/50.00)

KIDS MUG CAKE SET

THIS DIY SET INCLUDES:

- 4 Kid-size mugs decorated with pastel polka dots, 7cm D x 6.7cm H (2.75" D x 2.6" H), 4oz (125ml each)
- Chocolate cake mix
- · Rainbow colored sprinkles
- · Easy to follow recipe sheet

Easy to make and back by popular demand. The cutest little kid sized mugs decorated with pastel colored polka dots.



MINI CHOCOLATE MUG CAKE SET akes 4 mug cal EKIDKRM 15.00 (case 4/60.00)







WHIMSICAL HOT **CHOCOLATE COLLECTION**

Our Whimsical collection of Hot Chocolate single serve pouches continues to be one of our most popular collections. Featuring attractive designs for the young at heart. Most are color changing blends which start out white and turn to wonderful pastel colors when prepared.

Empty contents of the pouch into a heatproof glass or ceramic mug, add hot water or hot milk to our creamy white chocolate with vanilla flavor blend and watch the color change, stir and enjoy. All contain 0% trans fat.

village village village village village village 30 village village village 0 2 Fai) village village village P village village village village

WHIMSICAL HOT CHOCOLATE FLOOR DISPLAY EKITSWM-U 360 Pouches of Whimsical Hot Chocolate. Assortment subject to change based on inventory at time of shipment. (1) 287.20

36



ARDAR

NEW COTTON CANDY HOT CHOCOLATE

This latest addition to our collection provides the nostalgic flavor of Cotton Candy and turns pastel blue when prepared. It is made with a base of white hot chocolate and cotton candy flavor to make it the perfect whimsical addition to our line.

MINI MARSHMALLOWS

Top off our colorful Hot Chocolates with these mini dehydrated marshmallows. Easy to use reclosable, shaker top, plastic container, enough to top off many mugs of Hot Chocolate.

Dimensions: 14cm (5") H x 5.25cm (2") W Contains: 34g (1.2oz)





MARSHMALLOWS

GUIMAUVES

BUT AT A LOCATION - A PLACE AND A PLACE AN

20

3.12

WHIMSICAL MARSHMALLOWS

BTOPSWM

2.95 (case 6/17.70)

UNICORN White Hot Chocolate that turns Pink when prepared GCHOMUN-U 0.77 (case 24/18.48)



Country of

YETI White Hot Chocolate that turns Blue when prepared GCHOMYT-U 0.77 (case 24/18.48)

DRAGON Orange flavored White Hot Chocolate that turns Orange when prepared GCHOMDR-U 0.77 (case 24/18.48) village GREEN HOT CHOCOLATE

CHOCOLAT CHAUD VERT

DINOSAUR White Hot Chocolate that turns Green when prepared GCHOMDI-U 0.77 (case 24/18.48)



COTTON CANDY Cotton Candy flavored White Hot Chocolate that turns Blue when prepared GCHOMBC-U 0.77 (case 24/18.48)



FAIRY White Hot Chocolate that turns Turquoise when prepared GCHOMFA-U 0.77 (case 24/18.48)



MONKEY Banana flavored Hot Chocolate GCHOMMK-U 0.77 (case 24/18.48)



MERMAID White Hot Chocolate that turns Purple when prepared GCHOMME-U 0.77 (case 24/18.48)



LLAMA White Hot Chocolate that turns Blue when prepared GCHOMLL-U 0.77 (case 24/18.48)



FLAMINGO White Hot Chocolate that turns Pink when prepared GCHOMFL-U 0.77 (case 24/18.48)



EASTER HOT CHOCOLATE COLLECTION

Easter is a time for children, a time for chocolate. Cuddly bunnies and cute little chicks make this seasonal collection extra special with fun color changing Hot Chocolates.

BUNNY HOT CHOCOLATE:

Pink Color Changing White Hot Chocolate.

CHICK HOT CHOCOLATE:

Purple Color Changing White Hot Chocolate.

HALLOWEEN HOT CHOCOLATE COLLECTION

Halloween, the #1 season of the year for chocolate and candies, get in on the act with our Ghoulish colors of Hot Chocolate that changes color when adding hot water or hot milk.

WITCHES BREW HOT CHOCOLATE:

Tastes of Orange and changes from white to orange when prepared.

VAMPIRE HOT CHOCOLATE: Red Velvet flavored and colored Hot Chocolate.

FRANKENSTEIN HOT CHOCOLATE:

Changes from white to green when prepared.



Great gift idea for Easter and

Halloween to make more

WITCHES BREW Orange flavored White Hot Chocolate Turns Orange when prepared GCHOMHW-U 0.77 (case 24/18.48)



BUNNY Pink colored White Hot Chocolate Turns Pink when prepared GCHOMEB-U 0.77 (case 24/18.48)

VAMPIRE Red velvet flavored Hot Chocolate GCHOMHV-U 0.77 (case 24/18.48)



CHICK Purple colored White Hot Chocolate Turns purple when prepared GCHOMEC-U 0.77 (case 24/18.48)



FRANKENSTEIN Green colored White Hot Chocolate Turns Green when prepared GCHOMHF-U 0.77 (case 24/18.48)



'WOODLAND FRIENDS' HOT CHOCOLATE COLLECTION

Cute forest characters for all ages, each filled with our best selling Double Truffle Hot Chocolate. Each single character pouch portrays a different animal, a baby Deer, a red Fox, a cuddly Bear and of course a Raccoon with those special eyes.

Just add hot water or hot milk, stir and enjoy. Also available in a larger size 'cube' format (see page 57)



FOX Double Truffle GCHOMWF-U 0.77 (case 24/18.48)



RACCOON Double Truffle GCHOMWR-U 0.77 (case 24/18.48)



DEER Double Truffle GCHOMWD-U 0.77 (case 24/18.48)



BEAR Double Truffle GCHOMWB-U 0.77 (case 24/18.48)



Take our classic, rich Double Truffle Hot Chocolate and add some masterful dessert flavors. Flavors and ingredients tailored to todays discerning customers, all the wonderful tastes you would expect from Gourmet du Village Hot Chocolates, some with added benefits. Just mix with hot water or hot milk, stir and enjoy All are '0' zero % trans fat.

NEW RED VELVET HOT CHOCOLATE

A rich, creamy, Hot Chocolate drink that has all the flavors of the classic cake, with a hint of red color added to the mix for the finishing touch.

NEW PUMPKIN SPICE HOT CHOCOLATE

Rich and creamy with a gentle spice flavor, Pumpkin Spice Hot Chocolate is a great treat for a Fall day, quiet evening or to enjoy with friends and family. Try topping with whipped cream for an extra special treat.





PUMPKIN SPICE GCHOMPS-U 0.77 (case 24/18.48)



VANILLA CHAI GCHOMVC-U 0.77 (case 24/18.48)



WHITE SALTED CARAMEL GCHOMWS-U 0.77 (case 24/18.48)

Classic Hot Chocolate. Assortment subject to change based on inventory at time of shipment. (1) 287.20



Our Hot chocolate minis all come packed in 24's in this easy to merchandise, branded display box, 100% recyclable and compostable. ECO-Printed with vegetable based ink and water based finishing.



S'MORES GCHOMSM-U 0.77 (case 24/18.48)



ORANGE GCHOMOR-U 0.77 (case 24/18.48)



CHERRY CHOCOLATE SUNDAE GCHOMCH-U 0.77 (case 24/18.48)

MORE DESSERT FLAVORS



IRISH CREAM GCHOMIC-U 0.77 (case 24/18.48)

THE BEST HOT CHOCOLATE AROUND

Just add hot water to our Hot Chocolates for a perfect mug every time, but they are even richer and creamier when prepared with hot milk

Our Double Truffle blend is the base for all of our brown chocolate flavors, including our rich dessert Hot Chocolates, containing up to 10% Cocoa. 2-3 times more cocao than other major brands which is where the term "double truffle" comes from and why our hot chocolates are so chocolatey, and of course 0% trans fat.

GOOD TO KNOW

Our Hot Chocolate collections are all shelf stable and have a shelf life of 36 months from the date of manufacturing. For optimal shelf life, we suggest to store in a cool and dry place.

'BUY IN BULK' AND SAVE

When you buy our bulk cases containing 288 minis of the same variety you save 5 cents (6%) on each single serve mini, any variety, save money, save wasted packaging, avoid running out of the best sellers, use them to top up a Floor display, use them in gift baskets. Buy in Bulk and save... For more informations see page 63.



TURMERIC Includes 1.5g of Tumeric per serving GCHOMTM-U 0.77 (case 24/18.48)



FRENCH VANILLA GCHOMFV-U 0.77 (case 24/18.48)



GCHOMRO-L 0.77 (case 24/18.48)



HOT CHOCOLATE BULK EZCHM + 2 last letters of mini pouch

HM + 2 last letters of min pouch code (example Unicorn EZCHM<u>UN-U</u>).

CRÈME BRULÉE GCHOMCB-U 0.77 (case 24/18.48)



NO SUGAR ADDED HOT CHOCOLATE

This collection specially prepared for those who want to follow a healthier lifestyle and eat/drink more mindfully, but also want to enjoy the full taste of our Hot Chocolate. This collection is growing in popularity by leaps and bounds and offers all the taste you would expect from a Gourmet du Village Hot Chocolate but with "No Sugar Added". Just add hot milk and enjoy.

These 'No Sugar Added' Hot chocolates are sweetened with Sucralose. Although not totally sugar free, the sugars in these are naturally occurring in select ingredients. The result is a full flavored product with much lower sugar and calorie values than our regular Hot Chocolates, with the added benefit of being a good source of fibre. Only 18mg per 15g serving of sucralose.



SALTED CARAMEL GCHOMCS-U 0.77 (case 24/18.48)



COCONUT MACAROON GCHOMMA-U 0.77 (case 24/18.48)



PEANUT BUTTER GCHOMPB-U 0.77 (case 24/18.48)



SNICKERDOODLE GCHOMSD-U 0.77 (case 24/18.48)



DOUBLE TRUFFLE No Sugar Added GCHOMN1-U 0.77 (case 24/18.48)



CANDY CANE No Sugar Addec GCHOMN2-U 0.77 (case 24/18.48)



SALTED CARAMEL No Sugar Added GCHOMN3-U 0.77 (case 24/18.48)



No Sugar Added GCHOMN4-U 0.77 (case 24/18.48)



NEW SNOWMAN POOP

This new creamy white Hot Chocolate with mini marshmallows included is inspired by the holiday poem.

YOU'VE BEEN NAUGHTY SO HERE'S THE SCOOP, ALL YOU'RE GETTING IS SNOWMAN POOP

"SNOWMAN POOP" TM CONCEPT GOURMET DU VILLAGE ULC

NEW SNOWMAN POOP MARSHMALLOWS

This decorative container filled with Mini Dehydrated Marshmallows to top off one of our Hot Chocolates. Easy to use, reclosable, shaker top, plastic container, enough to top off many mugs of Hot Chocolate. Container Dimensions: 14cm (5") H x 5.25cm (2") W Contains: 34g (1.2oz)

NEW GREEN ELF

This fun holiday character with a little hat, is a white Hot Chocolate that changes to GREEN when prepared for a fun surprise, when you add hot water or hot milk.

NEW CHRISTMAS TREE

This fun holiday tree with gifts, features Double Truffle Hot Chocolate.

NEW 'NAUGHTY OR NICE'

The perfect fun stocking stuffer, for that someone with a wicked sense of humor and is open to a little teasing over the holiday season, filled with our delicious Double Truffle Hot Chocolate enough to make one mug of warming pleasure.



PLAID GNOME GCHOMG1-U 0.77 (case 24/18.48)



ELF Green colored White Hot Chocolate Turns Green when prepared GCHOMFE-U 0.77 (case 24/18.48)



PENGUIN Double Truffle GCHOMPG-U 0.77 (case 24/18.48)







CHRISTMAS TREE GCHOMTR-U 0.77 (case 24/18.48)



SNOWGLOBE GCHOMSG-U 0.77 (case 24/18.48)



MORE FESTIVE HOT CHOCOLATES



MORE SMILES FOR THE **HOLIDAYS**

Each of these little sweet treats and holiday favorites are guaranteed to bring warmth to the holiday season. Just add hot water to our Hot Chocolates for a perfect mug every time, but they are even richer and creamier when prepared with hot milk.



GINGERBREAD Gingerbread GCHOMGB-U 0.77 (case 24/18.48)

village

MET AT LOUIS NET BE \$ 1212

RETRO ORNAMENT

GCHOMFO-U 0.77 (case 24/18.48)

village

WHITE

HOT CHOCOLATE

DOUBLET Hot chocolate chocolat chaud



Our Hot chocolate minis all come packed in 24's in this easy to merchandise, branded display box, 100% recyclable and compostable. ECO-Printed with vegetable based ink and water based finishing.

FESTIVE FLOOR

The perfect way to display the entire collection of these best sellers in a free standing display that takes up very little floor space.

Each comes filled with 15 cases of 24 single serve minis for a total of 360 pouches of hot chocolate per display. Place this in a high traffic area and watch those minis fly out of your store.

Assortment subject to change according to product availability.

DISPLAY

CHOCOLAT CHAUD BLANC AT VERSENT # 1200

> POLAR BEAR White Hot Chocolate GCHOMRB-U 0.77 (case 24/18.48)



HOLIDAY TRAIN Double Truffle GCHOMHT-U 0.77 (case 24/18.48)



OWL Double Truffle GCHOMOW-U 0.77 (case 24/18.48)



CANDY CANE Candy Cane GCHOMCC-U 0.77 (case 24/18.48)



NUTCRACKER Double Truffle GCHOMNU-U 0.77 (case 24/18.48)



SNOWMAN Candy Cane White GCHOMS3-U 0.77 (case 24/18.48)



MORE MINI HOT CHOCOLATES

NEW FEEL GOOD EXPRESSIONS

Our classic Double Truffle Hot Chocolate all wrapped up in some warm expressions, great graphics, great look to go with the great taste, guaranteed to bring a smile, perfect as a little surprise treat or as a stocking stuffer.

See page 51 for matching mugs gift sets.



LOVE & CHOCOLATE Double Truffle GCHOMLO-U 0.77 (case 24/18.48)

CLASSIC TASTES WITH A CLASSIC LOOK

Double Truffle, our signature blend, a rich, smooth, creamy taste headlines the collection, add a little mint flavor and voila you have the taste of after dinner chocolate mints. The matching White Hot Chocolate is super creamy, vanilla with hints of coconut flavor. Mix with hot water, or they all taste extra creamy with hot milk.



DOUBLE TRUFFLE GCHOMDT-U 0.77 (case 24/18.48)

0.80 (case 24/19.20)

EXTRA RICH HOT CHOCOLATE

A sophisticated taste, richer than any Hot Chocolate we have previously offered. Each mini boasts a 20% COCOA content, just add hot milk for an extra rich creamy treat. 'Extra Rich' is the base, the raspberry is possibly our best rich hot chocolate ever... to finish off the collection we offer a rich slightly dark chocolate with velvety smooth mint flavor.

The beautiful graphics on each of these make them perfect for a classic gift basket.



MINT EXTRA RICH Mint Flavored GCHOMXM-U 0.80 (case 24/19.20)

RASPBERRY EXTRA RICH HOT CHOCOLATE





HUGS Double Truffle GCHOMHU-U 0.77 (case 24/18.48)



PEPPERMINT GCHOMPP-U 0.77 (case 24/18.48)



EXTRA RICH Hot Chocolate GCHOMXC-U 0.80 (case 24/19.20)



LIFE HAPPENS Double Truffle GCHOMLI-U 0.77 (case 24/18.48)

	village	l
HOT		
СНС	DCOLAT CHAUD	í

WHITE GCHOMWH-U 0.77 (case 24/18.48)



RASPBERRY EXTRA RICH Raspberry Flavored GCHOMXR-U 0.80 (case 24/19.20)



NEW EXPRESSIONS MUG COLLECTION

Our expressions mini Hot Chocolates are so good that we created a collection of matching Mug Gift sets to go with them. Each features a **400ml (13 oz) ceramic mug** reminiscent of an old enameled mug, includes a matching pouch of our classic Double Truffle Hot Chocolate. Guaranteed to delight, perfect as a little gift. See page 49 for matching minis. The perfect gift to share.





LOVE & CHOCOLATE MUG SET Ceramic Mug with unique expressions, "All we need is Love & more Chocolate", and a single serve Hot Chocolate pouch (Double Truffle) EAMUGLO 6.00 (case 6/36.00)

6.00 (case 6/36.00)

NEW KID SIZED MUG SETS

NEW WHIMSICAL MUG SET

Each gift set includes 2 kid sized ceramic mugs 250ml (8 oz) capacity, decorated with wonderful, colorful, characters from our best selling Whimsical Hot Chocolate collection. Each gift box of 2 mugs also includes 2 single serve pouches (Unicorn & Yeti) color changing Hot Chocolate.





KID SIZED WHIMSICAL MUG SET Includes 2 kid sized mugs and 2 color changing white hot chocolate minis (Pink Unicorn & Blue Yeti) EMG2KWM 10.00 (case 4/40.00)

HUGS MUG SET Ceramic Mug with unique expressions, "Hot Chocolate is like a Hug inside", and a single serve Hot Chocolate pouch (Double Truffle) EAMUGHU

LIFE HAPPENS MUG SET Ceramic Mug with unique expressions, "Life Happens Chocolate Helps", and a single serve Hot Chocolate pouch (Double Truffle) EAMUGLI 6.00 (case 6/36.00)



NEW HOLIDAY MUG SET

Each gift set includes 2 kid sized ceramic mugs, **250ml (8oz)** capacity decorated with seasonal holiday characters featured on our Holiday Hot Chocolate minis. Inside this gift box you will find 2 single serve pouches (Santa & Gnome) holiday decorated Hot Chocolates to go with the 2 mugs.





KID SIZED HOLIDAY MUG SET Includes 2 kid sized mugs & 2 double truffle minis (Santa & Gnome) EMG2KXM 10.00 (case 4/40.00)



12 DAYS OF CHRISTMAS ADVENT 2023 EDITION

A huge hit last year, this best seller is fully redesigned and updated with a fresh NEW face and a new seasonal selection of mini Hot Chocolates inside.

This book style gift box adorned with Christmas graphics opens up to reveal 12 window tabs, one for each of the "12 Days of Christmas", for a sweet Christmas countdown or to celebrate the 12 days of Christmas.

"The 12 Days of Christmas" is a song we sing but in this box 12 presents we bring, open one each day to celebrate the Holidays.

Rather than being filled with "French Hens" "Maids a Milking" or "Drummers Drumming" it is filled with a wonderful tasty assortment of 12 of our ever popular holiday designed single serve Hot Chocolates.

Dimensions : 30.5cm H x 24cm W x 3.2cm D (12" H x 9.4" W x 1.25" D)



12 DAYS OF CHRISTMAS ADVENT CALENDAR Include 12 single serve hot GCHOX12 12.50 (case 4/50.00)

Chocolates Chauds Open tab for suggested het chocelate of the day Burreg un carré par jour pour voir notre auggestion de chocelui chaud The 12 Days of Christmas

00

is the song we sha But in this box. 12 special presents we brin from the right in which you s open one tob each day to reveal a treat that will warni yaur reart.

Les 12 jours de Moel est la changen que neus chanters Mais dans cette poliz. 12 cadeaux spéciaux THE ROUS YOUS OFFICE. Dès la première nuit du vou enmenos; avec benhair Surreg un orget por joi tour décourir une gâte i rechauffera votre con

12 FESTIVE MINIS INCLUDED:

NEW GREEN ELF

- NEW CHRISTMAS
- TREE
- NEW SNOWMAN POOP
- PINK UNICORN
- BLUE YETI
- CANDY CANE

- NUTCRACKER
- SANTA
- SNOWGLOBE
- REINDEER
- GINGERBREAD
- GNOME





PINK HOT CHOCOLATE BOMB

HOT CHOCOLATE BOMB DIY KITS

Fun to make, an indulgent treat, made at home with our all inclusive kits. Each kit includes a silicone mold with 8 semi-sphere shapes, an easy to follow recipe, Gourmet du Village Hot Chocolate mix, dehydrated mini marshmallows to put inside, plus colored Sprinkles or toppings to decorate the outside.

Picture perfect bombs melt seamlessly when hot milk is poured over top.

Great for birthday & pyjama parties, the holidays, gender reveal parties, or just for a fun family activity.

Each kit makes 4 Hot Chocolate Bombs and comes in a colorful gift box (15cm x 15cm x 15cm /6" x 6" x 6").



SALTED CARAMEL HOT CHOCOLATE BOMB REFILL ESSENTIALS Includes milk chocolate morsels, salted caramel hot chocolate mix, dehydrated mini marshmallows & caramel bits BBOMXSC 6.00 (case 4/24.00)

PINK HOT CHOCOLATE BOMB KIT

THIS DIY SET INCLUDES:

- Pink Silicone Mold with 8 semi sphere shapes (5 cm/2" diameter) Makes 4 bombs. Mold: 25.5 cm x 13.2 cm x 2.5 cm (10" x 5" x 1")
- White Chocolate wafers
- White Hot Chocolate mix, color changing to Pink
- Mini Dehydrated Marshmallows
- Rainbow colored sprinkles



BLUE HOT CHOCOLATE BOMB KIT

THIS DIY SET INCLUDES:

- · Blue Silicone Mold with 8 semi sphere shapes (5 cm/2" diameter) Makes 4 bombs.
- Mold: 25.5 cm x 13.2 cm x 2.5 cm (10" x 5" x 1")
- White Chocolate wafers
- · White Hot Chocolate mix, color changing to Blue
- Mini Dehydrated Marshmallows
- · Rainbow colored sprinkles

BLUE LLAMA HOT CHOCOLATE BOMB DIY KIT EBOMKBL 11.00 (case 4/44.00)

CLASSIC HOT CHOCOLATE BOMB KIT

THIS DIY SET INCLUDES:

• Red Silicone Mold with 8 semi sphere shapes (5 cm/2" diameter) Makes 4 bombs. Mold: 25.5 cm x 13.2 cm x 2.5 cm (10" x 5" x 1")

- Milk Chocolate wafers
- Double Truffle Hot Chocolate mix
- Mini Dehydrated Marshmallows
- · Rainbow colored sprinkles



HOT CHOCOLATE BOMB DIY KIT **EBOMKD** 11.00 (case 4/44.00)

CANDY CANE HOT CHOCOLATE BOMB KIT

THIS DIY SET INCLUDES:

- Red Silicone Mold with 8 semi sphere shapes (5 cm/2" diameter) Makes 4 bombs. Mold: 25.5 cm x 13.2 cm x 2.5 cm (10" x 5" x 1")
- Milk Chocolate wafers
- Candy Cane Hot Chocolate mix
- Mini Dehydrated Marshmallows
- Candy Cane bits









PINK HOT CHOCOLATE BOMB REFILL ESSENTIALS pink color changing white hot chocolate mix, dehydrated mini marshmallows & rainbow colored sprinkles BBOMXPI 6.00 (case 4/24.00)





BLUE HOT CHOCOLATE BOMB REFILL ESSENTIALS blue color changing white hot chocolate mix dehydrated mini marshmallows & rainbow colored sprinkles BBOMXBL 6.00 (case 4/24.00)



CLASSIC HOT CHOCOLATE BOMB REFILL ESSENTIALS double truffle hot chocolate mix, dehydrated mini marshmallows & rainbow colored sprinkles BBOMXDT 6.00 (case 4/24.00)

6.00 (case 4/24.00)



HOT CHOCOLATE CUPS

Each attractively designed recyclable card cup comes with a matching single serve mini inside. To top it off the clear plastic dome is filled with mini dehydrated marshmallows, enough for many cups of Gourmet du Village Hot Chocolate.

Just tear open the pouch pour it in the cup and top off with hot water or hot milk, sprinkle with marshmallows and watch as they become soft and tasty. Each cup is 17cm (7") tall, 9.5cm (3.75'0 wide at the top. A great gift, convenient and fun to enjoy.



Includes color changing White Hot Chocolate and dehydrated mini Marshmallows, Turns Blue when prepared GCHCPYT 2.95 (case 12/35.40)



Includes color changing White Hot Chocolate and dehydrated mini Marshmallows, Turns Pink when prepared GCHCPUN 2.95 (case 12/35.40)

village

SACTED CARAMEL

HOT CHOCOLATE

OCGLAT CHAU

CARAMEL SALE



DINOSAUR Includes color changing White Hot Chocolate and dehydrated mini Marshmallows. Turns Green when prepared GCHCPDI 2.95 (case 12/35.40)

LARGER FORMAT HOT CHOCOLATE CUBE BOXES

Each colorful cube contains (140g/4.9oz) of our finest Hot Chocolate, enough for 4-6 servings. Simply mix with hot water or hot milk This cube format is convenient to stack for a display in your store or to fill up a gift basket.

Cube dimensions 10cm x 10cm x 10cm (4" x 4" x 4")

BRING A SMILE

These adorable designs and great tastes are perfect for the young 2 fun designs based on the 'Great Outdoors'. These are, at heart, the two whimsical designs are filled with color changing guaranteed to please when you taste our finest Double Truffle Hot Hot Chocolate blends. Chocolate inside. Warmth on the outside and warmth on the inside.





GCHOXDI

4.00 (case 6/24.00)

UNICORN Pink colored White Hot Chocolate Turns Pink when prepared Makes 4-6 servings GCHOXUN 4.00 (case 6/24.00)

EXTRA RICH

COLLECTION A sophisticated collection, featuring a richer Hot Chocolate mix made with 20% COCOA. Our richest, tastiest indulgent Hot Chocolates ever.



MINT EXTRA RICH Mint flavored Makes 4-6 servings GCHOXXM 4.25 (case 6/25.50)

FOR THE HOLIDAYS

These Holiday designs are filled with a 140g (4.9 oz) pouch of either our Salted Caramel, Candy Cane or Classic Double Truffle Hot Chocolate.



SNOWGLOBE Salted Caramel Hot Chocolate Makes 4-6 servings GCHOXSG 4.00 (case 6/24.00)



REINDEER Includes Double Truffle Hot Chocolate and dehydrated mini Marshmallows GCHCPRR 2.95 (case 12/35.40)



SANTA Includes Double Truffle Hot Chocolate and dehydrated GCHCPSR 2.95 (case 12/35.40)



SNOWGLOBE Includes Gingerbread flavored Hot Chocolate and dehydrated Includes Salted Carame Hot Chocolate and dehydrated mini Marshmallows GCHCPSG 2.95 (case 12/35.40)



SNOWMAN Includes Candy Cane flavored White Hot Chocolate and dehydrated mini Marshmallows GCHCPS3 2.95 (case 12/35.40)

mini Ma

GCHCPGB

2.95 (case 12/35.40)

56

INTO THE WOODS



WOODLAND FRIENDS uble Truffle Hot Choco Makes 4-6 servings GCHOXWF 4.00 (case 6/24.00)



CAMPFIRE Double Truffle Hot Chocolate with N Makes 4-6 servings GCHOXCF with Marshmallows 4.00 (case 6/24.00)



EXTRA RICH Hot Chocolate Makes 4-6 servings GCHOXXC 4.25 (case 6/25.50)



RASPBERRY EXTRA RICH Raspberry flavored Makes 4-6 servings GCHOXXR 4.25 (case 6/25.50)

CANDY CANE Candy Cane Hot Chocolate Makes 4-6 servings GCHOXCC 4.00 (case 6/24.00)

NUTCRACKER Double Truffle Hot Chocolate Makes 4-6 servings GCHOXNU 4.00 (case 6/24.00)

HOT **CHOCOLATE PYRAMID ORNAMENTS**

Each colorful Pyramid tree ornament includes 2 MINI single serve pouches of our delicious Hot Chocolate. Perfect as a gift, splendid to hang on the tree, each comes with a matching ribbon bow & loop to make it easy to hang, each also has a panel containing a "To & From" section.

Each Pyramid is 10.2cm (4") wide and 10.2cm (4") high, perfect for trimming the tree.



White Hot Chocolate that turns Green when prepared GCHOPFE 2.95 (case 6/17.70)



SNOWMAN POOP™ PYRAMID ORNAMENT GCHOPSP 2.95 (case 6/17.70)



Traditional & nostalgic red and green designs, each finished with a holiday red ribbon bow and hanging loop. Each contains two matching single serve minis filled with rich and creamy Hot Chocolate.

NEW GREEN ELF; Green color changing Hot Chocolate

NEW SNOWMAN POOP™: White Hot Chocolate with Marshmallows

NUTCRACKER; Double Truffle

SNOWGLOBE; Salted Caramel



SNOWGLOBE PYRAMID ORNAMENT GCHOPSG 2.95 (case 6/17.70)

village

White Hot Choco

turns Pink when prepare

GCHOPUN

2.95 (case 6/17.70)



NUTCRACKER PYRAMID ORNAMENT GCHOPNU 2.95 (case 6/17.70)



Whimsical surprises on the tree are a fun holiday treat, each of these two best selling designs includes two matching single serve minis filled with white color changing Hot Chocolate.

UNICORN; White Hot Chocolate color changing to Pink

DINOSAUR; White Hot Chocolate color changing to Green



White Hot Chocolate that turns Green when prepared GCHOPDI 2.95 (case 6/17.70)



HANDMADE TOFFEE

Handmade in small batches from a Reich family recipe. Crunchy, chocolate covered toffees, better known as "toffee crunch" are to die for. Made with simple, quality ingredients, real butter, sugar and coated with the finest chocolate.

**To ensure optimal freshness our toffee's are only available through a pre-booking program.

Order by: January 30th, 2023 For Delivery: March, 2023

Order by: August 1st, 2023 For Delivery: October, 2023

Order by: September 30th, 2023 For Delivery: November, 2023



I SHOULDN'T Vanilla with Dark Chocolate ~ 227 g (8 OZ) & Pecan Dust I SHOULDN'T ate & Pecan Dust Vanilla with Dark (113 g (4 OZ) 7.75 (case 6/46.50) RTŎ

4.75 (case 12/57.00)



WINTER BREAK Pep 227 g (8 OZ) 7.75 (case 6/46.50)

WINTER BREAK 113 g (4 OZ) 4.75 (case 12/57.00)



Vanilla with White Chocolate & Rainbow colored sprinkles 227 g (8 OŻ) RTOF8BC 7.75 (case 6/46.50)

BIRTHDAY CAKE Vanilla with White Chocolate & Rainbow color 113 g (4 OŻ) RTČ 4.75 (case 12/57.00)



DREAMSICLE Orange 227 g (8 OZ) RTC 7.75 (case 6/46.50)

DREAMSICLE 113 g (4 OZ) Orange RTOF4DM 4.75 (case 12/57.00)



I SHOULD ... Vanilla with Milk Chocolate & Pecan Dust Vanilla with Milk (227 g (8 OZ) 113 7.75 (case 6/46.50)

I SHOULD ... ate & Pecan Dust 113 G (4 OZ) RTOF4MP 4.75 (case 12/57.00)



TEA GIFT BOXES FOR ALL SEASONS

Lifted Cup tea combines, quality tastes with ethical sourcing directly from the Tea estates. Prepared with the finest teas to offer exceptional taste, all in double chamber flow through filter sachets, sealed for freshness before being boxed. Gluten free, Kosher & Organic options in the collection.

YARD OF TEA

One of our best selling items, great gift, great value, this yard long (36" 92cm) box is filled with 12 varieties, 96 total assorted Black and Green teas individually packed in eco friendly unbleached tea sachets.

96 CT YARD OF TEA VTEA854 10.00 (case 6/60.00)

and all eco friendly 36" (92cm) and eco friendly 36" (92cm) ARD OF STEP AND OF STEAT Teabags 96 Coral Teabags 96 Coral Teabags 96 Coral Teabage 100 Corad Teabage 100 Coral Teabage 100 Coral Teabage 100 Corad Gluten free and Kosher Includes 96 Assorted Black & Green Teas. Packed in eco-friendly unbleached tea sachets. Includes 8 each of Earl Grey, English Breakfast, Citrus Orange, Sweet Ginger Peach Apricot, Caramel Dreams Chai, Hot Cinnamon Spice, Jasmine Green, Elevated Green, Moroccan Mint Green, Pomegranate Green, Peach Mango Green, Tropical Green



48 CT HEXAGON GREEN TEA ASSORTMENT VTEA820 6.95 (case 6/41.70)

48 count Hexagon Green Tea Assortment Sampler with 8 each of Pomegranate. Elevated Green Tea, Peach Mango, Tropical Infused, Superfruit and Moroccan Mint Green Tea



96 CT HEXAGON TRADITIONAL TEA ASSORTMENT TOTE VTEA822 10.00 (case 6/60.00)

96 count Hexagon Traditional Tea Assortment Tote with 8 each of English Breakfast Black Tea, Earl Grey Black Tea, Bombay Chai Black Tea, Pomegranate Black Tea, French Vanilla Black Tea, Ginger Peach Black Tea, Elevated Green Tea, Moroccan Mint Green Tea, Jasmine Green Tea, Blueberry Green Tea, Peach Mango Green Tea and Tropical Green Tea



54 CT TEA BAG WELLNESS TEA COLLECTION VTEA818 7.95 (case 12/95.40)

9 Pack 54 Count Wellness Tea Collection Sampler with 6 each of Pomegranate Green, Acai Berry Green, Elevated Green, Blueberry Green, Jasmine Green, Superfruit Green, Moroccan Mint Green, Bed Time Herbal and Lemon Honey Chamomile

NEW YARD OF TEA- HOLIDAY GIFT BOX

Our bestselling Yard of Tea is now all wrapped up for the Holidays! Includes the same 12 varieties as our year round Yard of Tea. 96 assorted Black & Green Teas packed in ecofriendly unbleached tea sachets. Organic, Gluten Free and Kosher. A budget friendly and thoughtful holiday gift.



VTEA821 6.95 (case 6/41.70)

48 count Hexagon Winter Tea Assortment Sampler with 8 each of Holiday Spice,

Gingerbread Spice, Candy Cane, Apple Cinnamon Spice, Tropical Holidays Green Tea and Warm Wishes Green Tea

NEW

AUG



64 CT HOLIDAY TEA BREAKAWAY BOX SET VTEA968 10.00 (case 6/60.00)

Gluten free and Kosher Lifted Cup Litted Cup Holiday Tea Breakaway 8 Box Set with 8 tea bags each of Holiday Spice Black Tea, Gingerbread Spice Black Tea, Candy Cane Black Tea, Apple Cinnamon Spice Black Tea, Caramel Dreams Chai Black Tea, Santa's Breakfast Black Tea, Tropical Holidays Green Tea and Warm Wishes Green Tea



96 CT HOLIDAY YARD OF TEA VTEA873 10.00 (case 6/60.00)

lard of Gea Gluten free and Kosher Includes 96 Assorted Black & Green Teas Packed in eco-friendly unbleached tea sachets. Includes 8 each of Earl Grey, English Breakfast, Citrus Orange, Sweet Ginger Peach Apricot, Caramel Dreams Chai, Hot Cinnamon Spice, Jasmine Green, Elevated Green, Moroccan Mint Green, Pomegranate Green, Peach Mango Green, Tropical Green



A wonderfully colorful holiday gift box presentation featuring 24 different teas and tastes, each individually packed. A generous gift that is sure to please. 33.5cm x 23cm (13" x 9")



ADVENT CALENDAR OF TEA VTEA855 12.50 (case 6/75.00)

Limited quantity 24 Assorted Teas - English Breakfast, Earl Grey, Lemon, Black Current, Citrus Orange, Hot Cinnamon, Holiday Spice, Ginger Peach, Chili Chocolate, Apple Cinnamon, Rooibos, Rooibos Vanilla, Peppermint, Chamomile, Elevated Green, Masala, Blueberry, Passionfruit Mango, Jasmine, Tropical, Super Fruit, Acai, Mango and Moroccan Mint





1000

JANEN'S

1 States

1-1

CUP

lone

FILLED FLOOR DISPLAYS

A great way to feature or introduce a wide selection of our best sellers into your store without having to rearrange shelf space. Each takes a very small space in your store. Perfect for impulse buys when placed in high traffic areas of your store. Each cardboard display comes pre-filled with a selection of our best sellers. Assortment subject to change according to availability. Shippers are subject to OVERSIZED freight charges by all freight carries.

Î

x 162.5cm H (16" L x 21" W x 64"

L x 53.3cm W

-0.6cm

village

village



DISPLAY

EKITSD

HOT CHOCOLATE

village

village

100

village village village

village

CLASSIC HOT CHOCOLATE

FLOOR DISPLAY

EKITSCL-U

Classic Hot Chocolate (1) 287.20

360 pouches of Flavored &

village village

village village

village

village

2

village

village



BARBECUE SEASONINGS DELICIOUS DIPS FLOOR FLOOR DISPLAY EKITSBB Features 120 of our best selling dips in our recipe card format (1) 262.00







MEAL STARTER SEASONINGS FLOOR DISPLAY EKITSIN 120 assorted meal starter seasoning (1) 262.00







BRIE TOPPINGS FLOOR DISPLAY EKITSB2 90 Brie Toppings (1) 257.50

COCKTAILS FLOOR DISPLAY EKITSS2 75 wine & cocktail drink mixes (1) 197.50

REDUCE, RE-USE, RECYCLE, FILL YOUR OWN FLOOR DISPLAY

Refill your display over and over. We also offer you the option to build your own assortment, all you have to do is order enough product to completely fill the shipper and request an empty shipper and header of your choice.

\$10.00 charge will apply for each empty shipper.

Empty shipper codes and headers found below:

FOR ALL DIP. SEASONING. BRIE TOPPING AND **COCKTAIL DRINK BOXES:**

Order a total of 15 cases of product plus

EDISFMP - MULTI PURPOSE DISPLAY + HEADER

FOR ALL MINI SINGLE SERVE POUCHES (35G/1.2 OZ): Order a total of 15 cases (360 units) plus

EDISFBV - EMPTY HOT CHOCOLATE DISPLAY plus

choose 1 header from the following: EDIHCWM – Whimsical hot chocolate theme EDIHCCL - Classic hot chocolate theme EDIHCFS - Festive hot chocolate theme

WOODEN DISPLAY

A perfect display to show off your Gourmet du Village products in your store. With the purchase of \$200 or more, get this wooden display for the low cost of \$35.00.

Wide enough to fit 4 seasoning, dip, brie or cocktail display boxes or 3 hot chocolate cases per shelf. Natural wood, step ladder style display with 4 shelves, perfectly sized to accommodate our display boxes.

Comes packed flat in a cardboard box with all components and easy to assemble instructions

Dimensions: 117cm (46") H x 50cm (20") W

LADDER STYLE WOODEN DISPLAY Order minimum \$200 *If purchased without products the display will cost \$70.00. EDISSWO 35.00 (1 per case)

village

BUY IN BULK TO SAVE

'Buy in Bulk' and save, when you buy our bulk cases containing 288 minis of the same variety you save 5 cents (6%) on each single serve mini, any variety, save money, save wasted packaging, avoid running out of the best sellers, use them to top up a Floor display, use them in gift baskets. Buy in Bulk and save...

To order use code EZCHM plus the last 2 letters of the regular product code (example Unicorn bulk 288. EZCHMUN)



HOT CHOCOLATE BULK EZCHM + 2 last letters of mini pouch code (example Unicorn EZCHM<u>UN-U</u>). EZCHM_ 0.72 (case 288/207.36)

TERMS & CONDITIONS OF SALE

CREDIT TERMS – credit terms may be requested after three (3) credit card transactions. A credit application must be submitted with three (3) supplier references. The credit application will only be processed if the account has a minimum \$1500 in purchases per year. Once credit approved, terms will be Net 30 days from date of invoice. Credit Card payment will not be accepted for accounts with Terms. Payments made after the 30-day terms will incur a 2% per month interest charge which will be applied at the time of payment.

INVOICE – All invoices are sent by email OR a hard copy is sent with the goods.

loss of credit privileges.

COST OF COLLECTION - should the account be sent to collection for nonpayment, the borrower agrees to pay in addition to the principal and interest due hereon, all reasonable cost of collection, including, without limitation, legal fees and all other cost and expense related to the recovery of the owned amount.

NSF CHEQUE – will incur a \$40 service charge and credit terms will be revoked.

CREDIT CARD - Credit Card numbers are encrypted and a token will be stored on a secured PCI compliant gateway. Credit Card information can be given at the time of placing the order or upon customer's request via an HTML link by email where the Customer will be prompted to enter their Credit Card information, which will then be sent back to our system in an encrypted format. Payment will be processed in full on day of shipment.

Customers will not be called for their Credit Card; it is the Customers responsibility to provide payment information. Orders will remain on hold until the Credit Card information is received.

PRICES - Valid for all shipments in 2023, subject to change at manufacturers discretion.

MINIMUM OPENING ORDER - \$400 for initial order, \$200 for repeat orders. Contact our sales representative in your area for more details.

vour invoice.

ARE NOT AVAILABLE Freight charges are calculated by the

NEW ACCOUNTS - all new accounts will be prepaid by credit card [Visa, MasterCard, or American Express]. Visa Debit cards are not accepted.

INTEREST – 2% per month is charged on all past due accounts and will result in a

TAXES - orders are not subject to taxes.

SHIPPING - UPS Ground, FOB Champlain, NY. All shipping charges will be added to

RUSH, OVERNIGHT OR AIR SERVICES

carrier at the time of shipment based on both the volume (# of boxes) as well as the weight of the shipment. NOTE oversized boxes, such as our free standing displays/ shippers are considered oversized by all carriers and do incur an oversize box fee factored into the total freight charges for the order. Cost of freight is out of our control; we do our best to select the lowest cost carrier based on customer's location.

All customer arranged (collect) freight orders are FOB Champlain, NY.

BACK-ORDERS - under \$75 will be cancelled

HEAT SENSITIVE PRODUCTS - Our delicious chocolate and other heat sensitive items are available to ship from Oct through May (weather permitting), we don't want these goodies to melt on route to vou

DAMAGE OR LOSS - claims must be filed with the freight company by the customer and may not be deducted from invoice. Check the exterior of your cartons for signs of damage before accepting and make note of any damages on the waybill upon reception of the delivery.

RETURNS – with FDA regulations regarding Homeland Security and bioterrorism, we cannot accept returns

REFUSED DELIVERY – full freight (to and from) will be billed to your account.

MIXED CASES & FILLED DISPLAY - Mixed cases where offered are prepacked, we reserve the right to change the contents of mixed cases, kits and store displays depending on product availability at the time of order.

UNAUTHORIZED REPRODUCTION OF **IMAGES** – from our website and catalogue are prohibited.

TRADEMARKS - Reich Fine Foods LLC. DBA, Concept Gourmet du Village, ULC owner of trademarks for Gourmet du Village Logo (CAN, USA, UK), "Naughty or Nice" (CAN), "Reindeer Noses" (CAN), "Snowman Poop" (CAN, US), "Unicorn Poop" (Formalized for (CAN)). "GDV Design" (Applied for (CAN, USA)), "Campfire Cocoa" (Applied for (CAN, USA).

CONTACT - Toll free 1-800-668-2314. weekdays from 8:30am to 4:30pm EST OR EMAIL sales@gourmetduvillage.com

WEBSITE - a fantastic resource for information on our brand, details about our products, recipe ideas, and links to our social media accounts.



willage.

www.gourmetduvillage.com 1-800-668-2314 sales@gourmetduvillage.com REICH FINE FOOD, LLC DBA GOURMET DU VILLAGE USA 3319 N ELSTON AVE, CHICAGO, IL 60618

> PRINTED IN CANADA TM CONCEPT GOURMET DU VILLAGE ULC™





